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1. EEBHO
(1) #EIREE
Zhe# 16, 705, 360 16, 833, 840 A 128, 480
EEdES 16, 705, 360 16, 833, 840 A 128,480
HEA=E 319, 000 316, 000 3,000
EXI=E 16, 386, 360 16,517, 840 A 131,480
BEERNE 4, 890, 000 4,790, 000 100, 000
RRAFHEHZ NG 1,900, 000 2, 000, 000 A 100, 000
NAFHERBEELCEERAETHEING 1,900, 000 2, 000, 000 A 100, 000
R4 AT & HIEEHZ N 2,960, 000 2, 760, 000 200, 000
AR A F B AT R R A 2, 200, 000 2, 000, 000 200, 000
ZRAEHENR 760, 000 760, 000 0
) —RAEXRFHHING 30, 000 30, 000 0
bV E 31,000 31,000 0
ZHFIR 1,000 1,000 0
FEUR I 30, 000 30, 000 0
EEIEE 21, 626, 360 21, 654, 840 A 28,480
(2) #ERHA
<BREXHZE> 4, 890, 000 4,790, 000 100, 000
NAF4ZREHE 1,900, 000 2,000, 000 A 100,000
NAFHERBEELERZAEHE 1,900, 000 2,000, 000 A 100, 000
HBHFs 1,470, 000 1, 140, 000 330, 000
REZEE 10, 000 10, 000 0
BISERE 30, 000 40, 000 A 10,000
HEMRE 10, 000 10, 000 0
E 380, 000 800, 000 A 420,000
A4S XHEHERRERE 2,960, 000 2,760, 000 200, 000
1B R EH R o 4R A 2, 200, 000 2,000, 000 200, 000
E 2, 200, 000 2,000, 000 200, 000
ARG EXXAEHE 760, 000 760, 000 0
HBHFs 700, 000 700, 000 0
REXEE 5, 000 0 5,000
BIEERE 45, 000 40, 000 5,000
HEME 5, 000 20, 000 A 15,000
Fml A& 5, 000 0 5,000
—REEXETFHHER 30, 000 30, 000 0
J—REXER 30, 000 30, 000 0
REXEE 10, 000 0 10, 000
BIEERE 10, 000 10, 000 0
HEME 10, 000 10, 000 0
Fml A& 0 10, 000 A 10,000




M B FHE AIFEFEEE B
BEXE 11, 510, 500 11, 404, 000 106, 500
& B R 2,765, 000 2,765, 000 0
aHFy 4,530, 000 4,523, 000 7,000
BAELE 1, 440, 000 1, 300, 000 140, 000
E 230, 000 300, 000 A 70,000
REXEE 240, 000 200, 000 40, 000
BIEERE 230, 000 220, 000 10, 000
HEME 70, 000 126, 000 A 56,000
N RAE 30, 000 40, 000 A 10,000
gfEH 1, 540, 000 1,500, 000 40, 000
XIL=E 400, 000 400, 000 0
RERRE 33, 000 20, 000 13,000
HE 2,500 10, 000 A 7,500
EHE 5, 225, 860 5, 460, 840 A 234,980
& B 1,185, 000 1,185, 000 0
HHFy 1,942,000 1,939, 000 3,000
REEITER 144, 000 132, 000 12,000
RERBES S| SERALRE 225,000 480, 000 A 255,000
BAIELE 600, 000 550, 000 50, 000
E 100, 000 150, 000 A 50,000
REXBE 100, 000 100, 000 0
BISERE 100, 000 89, 840 10, 160
HEMRE 30, 000 54,000 A 24,000
FmI A& 15, 000 10, 000 5, 000
gEH 660, 000 660, 000 0
Xih=E 40, 000 70, 000 A 30,000
IR TR/ S 10, 000 10, 000 0
XEE 60, 000 20, 000 40, 000
REHEE 13, 800 10, 000 3, 800
HE 1,060 1,000 60
EEER 21, 626, 360 21, 654, 840 A 28,480
e S F AR R R IERER 0 0 0
S I F 5T 0 0 0
HEREIRRAR 0 0 0
2. @ENEEON
(1) #ERIMRE
REMR A 0 0 0
(2) wENER
BrENERE 0 0 0
LERE S BRI 0 0 0
28— AR IE RR B4 ZE IR IR AR 0 0 0
—MRIERMEHEES 28, 953, 366 29, 603, 566 A 650, 200
—MRIERBAERIRIES 28, 953, 366 29, 603, 566 A 650, 200
5B IERR A EE R B D ED
215 7€ IERR A ZE IR IR EE 0 0 0
HEERMEHRERS 0 0 0
HEERMEHRES 0 0 0
ERMERRES 28, 953, 366 29, 603, 566 A 650, 200




